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Chapter 3 Section 2:  Meiosis
· There are 2 kinds of reproduction:
		1.	______________________________ 
		2.	______________________________
Asexual Reproduction
· Only ________  parent cell is needed
· The structures inside the cell are ___________, the cell ______________, and results in offspring that are ______________  copies of their parents.
· This type of division is known as ________________.
· The _____________ in your body reproduce this way. 

Sexual Reproduction_
· Produces ____________________________ that share traits with their parents but are not exactly like either parent.
· The parent cells are called __________________________________.
homologous chromosomes-_______________________________________________________
______________________________________________________________________________
· _______________sex cells are different.  They have _____ the normal amount of chromosomes:  _________.
meiosis-_______________________________________________________________________
______________________________________________________________________________


· Why?  
		Human egg cell has ______ chromosomes
		Sperm cell has         _____    chromosomes
The new cell that forms when they join has ______ chromosomes.

Walter Sutton-_____________________________________________________________
_________________________________________________________________________
Sex Chromosomes:
· They carry genes that determine ________.
· ________________________ have two X chromosomes:     XX
· __________________________ have one X and one Y chromosome:    XY			    
During meiosis, _______________________ of the chromosome pairs ends up in a sex cell. 
Girl or Boy?
· So, when ________________ produces egg cells, each egg gets one X chromosome.
· Meiosis produces sperm with either an X or a Y chromosome.  If an X is given, a _______________will be produced, and if a Y if given, a ____________ will be produced. 
Sex-Linked Disorders
· The gene for this disorder is recessive, so men are more likely to have these disorders.
Types of Sex-Linked Disorders:
· The X chromosome carries the ________________________ disorder.
· What has been done to help people who are colorblind?_______________________
_____________________________________________________________________
· __________________________________-prevents blood from clotting

· If people are worried that they may pass a disease onto their children, they can consult a __________________________________.
· ___________________________-a tool used for tracing a trait through generations of a family.  It can be used to predict whether a person is a carrier of a hereditary disease. 
· It is a pedigree that traces a disease called ______________________, which causes serious lung problems.  Parents must be carriers for it to show up in their children.

· Many different pedigrees can be drawn up to trace a ______________.  

Selective Breeding-___________________________________________________________
___________________________________________________________________________
· Organisms with desirable characteristics are put together.
· For example,  chickens that produce larger eggs are bred for that purpose.
· Specific breeds of dogs with desirable traits are bred.  





